Coming Soon On 2 October 2020

ITEM No. DESCRIPTION PRICE ORDER
1/32 MINI SERIES

ltem Description Price

15236 High Speed Counter Gear set 130.00
15307 R/C Mini 4WD Ultra-Dash Motor 340.00
15354 Mini 4WD PRO Racer Box 1,300.00
15408 L Pole & Low Fric Roller 13mm 130.00
15432 SS Gear (SuperXX & Superll) 110.00
15433 Mach-Dash Motor PRO 170.00
15435 Mini 4WD Basic Tune-Up Set 400.00
15440 60mm Hollow Stainless Shaft 90.00
15450 AR Chassis Basic Tune Set 440.00
15453 Carbon Rein. 8T Pinion *G 60.00
15454 Cap Screws (25mm, 30mm) 220.00
15455 Light-Dash Motor 160.00
15459 Side Mass Damper Set (AR) 260.00
15472 FRP Wide F Plate Full Cowl 120.00
15486 Atomic- Tuned 2 Motor 130.00
15508 St Steel Screw Set 4size 140.00
15512 Brake Sponge Set Mild 1/2/3mm Blu 180.00
15512 Brake Sponge Set Mild 1/2/3mm Blu 180.00
15518 FRP Rear Brake Stay Set 140.00
69570 Jr Circuit Slopes (Red) 4,600.00

R/C SPARE PARTS
50354 16/17T AV Pinion Gear 200.00
50356 20T/21T AV Pionion Gear 210.00
50419 Celica Racing,Radia 1 Tire 280.00
50473 Hi-Torque Servo Saver 350.00
50808 TG10 Rear Wheel Axle*2 250.00
50883 39mm Drive Shaft Set 290.00
51019 Urethane Bumper [TT01,TGS] 120.00
51071 Porsche Carrera Wheels (+2)*4 330.00
51090 950 Bearings *4 380.00
51207 2WD Wide Grooved Front Tires 60/19 320.00
51299 M-N 12-S Wheels *4 (24mm/+2) 220.00
51460 TAOQ6 Gear Diff Bevel Gear 180.00
51461 TAO06 Main & Middle Shaft 120.00
51462 TAO06 R Diff Case (52T) 110.00
51532 TT-02 Lower Deck 190.00
51532 TT-02 Lower Deck 190.00
51610 T3-01 Battery Case 490.00
51624 3xémm Steel Hex Head Screws*10 60.00
51626 3x8mm Steel Hex Head Screws*10 60.00
51629 3x10mm Steel CS HexHead Screws*10 60.00
51631 3x12mm Steel CS HexHead Screws*10 60.00
R/C HOP UP OPTION

42282 4mm Serrated WhI Nut Bla*8 130.00
53159 4mm Flange Lock Nut Blue 280.00
53295 Tire Inner Foam 200.00
53338 RC Tire Cementing Helper 480.00




53339 CA Cement [For Rubber Tires] 220.00
53351 Aluminum Reinforced Tape 190.00
53435 Medium-Narrow Hard Inner*2 170.00
53443 Soft Oil [#200,#300,#400] 340.00
53470 Lightweight Wing [Carbon] 350.00
53502 42mm Lightweight rear swing Shaft For As 750.00
53533 3x16mm Titanium Socket Screw *5 220.00
53535 3x10mm Titanium CS Hex Screw *5 220.00
53569 Clamp Type Alu. Wheel Hub 6mm 750.00
53570 Clamp Type Alu.Wheel Hub 4mm 750.00
53585 O 3mm Shin Set *10x3 Types 210.00
53587 O 5mm Shin Set *10x3 Types 210.00
53602 Trunbuckle Wrench 290.00
53665 TT-01 Dpur Gear Set [55T/58T] 330.00
53709 Fluorine Coated Sus.Ball *8 330.00
53792 Universal Shaft [TT-01,TA04] 1,100.00
53823 Clamp Type Alu.Wheel Hub 5mm 750.00
53828 DT-02 Turnbuchle Sus. & Tie-Rod 560.00
53829 DT-02 Stabilizer Set [F&R] 700.00
53839 Marking Sticker (Star&Fire) 320.00
53840 Marking Sticker (Tribal Flame) 320.00
53862 Height & Droop Gage 630.00
53870 49.7mm Titanium Sus.Shaft*2 310.00
53881 Large Dish Wheels Rear 62/35 240.00
53901 TRF Special Damper F103GT 800.00
53943 3x46mm Hard Turnbuckle Shaft*2 340.00
54026 TT-01 Alu. Prop. Joint & Shaft 500.00
54029 CR-01 Setting Spring Set 360.00
54090 TB-03 Alu. Servo Stay (R) 430.00
54134 Lowered Buggy Racing Wing 330.00
54229 FC 06 Module Pinion 28T,29T 300.00
54247 3x18mm Alu. Turnbuckle Shaft*2 170.00
54248 3x23mm Alu. Turnbuckle Shaft*2 150.00
54306 TAO06 R Ball Diff Set (52T) 1,400.00
54382 48 Pitch Pinion Gear 26T,27T 360.00
54401 TAO06 Ballast 600.00
54422 2x8mm Titan Socket Screw *5 140.00
54490 TAOQ6 1P Fl.Tube&Spacer 4.5x3.5 100.00
54501 TT-02 Aluminum Propeller Shaft 220.00
54502 TT-02 Aluminum Propeller Joint 250.00
54511 Rubber Tire Cement LoVis. 25g 400.00
54515 XV-01 Assy. Univ. Shaft F*2 900.00
54530 M Carbon Body Mt XMember 390.00
54543 TB-04 Gear Diff Alu. Cup Joint 490.00
54546 Rein. RevSusArm Hub Carrier 6? 200.00
54559 TT-02 Low Fric Sus. Ball *4 220.00
54592 TB-04 Front Direct Coupling 800.00
54605 M-05 Ver.II A Parts 440.00
54616 CC-01 Plated A Parts 300.00
54660 MF-01X Alu Motor Mount 510.00
54661 Alu Hub Carrier 8 GF-01 WR-02 1,200.00
54706 TAO7 Aluminum Counter Pulley 230.00
54724 TAO7 Aluminum Servo Mount 720.00
54756 3x106mm Alu. Turnbuckle Shaft 190.00




54804 TB-05 Carbon Damper Stay R 500.00
54869 OF 5mm Adjusters L *8 130.00
54898 SW-01 Upper Arm Connectors 340.00
54924 GF-01 Full Ball Bearing Set 950.00
54925 630 Ball Bearings *8 340.00




